2

0
Ja
B

3 Al

A

Off & 2K

20
B
2

Sl W

H [

=

17,669, 191
4,916,933
2,956,000
133,194
129,109
590,459
8,943,496

21,471,027

23,801,836

O
114

o
0=
J@
o
fol

= H AL S i W

10,339,418

4,916,933
100,000
133,194
120,609
590,459

4,478,223

11,033,218

693,800

= N W

1,807,506
354,844
40,306
1,412,356

2,163,396

/355,890

672,525

708,750

A 36,225

672,525

708,750

A 36,225

)

At
18,000& 106, 750 £ +35/100

672,525

672,525

708,750

N36,225

= N W

130,505
62,836
12,567
55,102

89,900

40,605

402 2Iz2tt=E0ld

= HnH

130,505
62,836
12,567
55,102

89,900

40,605

02 QIZ2HCHEH ALY
HIXH b 130,505,000 14

= HnH

130,505

130,505
62,836
12,567
55,102

89,900

40,605

EAHENEX

= HnH

362,310
289,848
21,739
50,723

201,072

161,238

[
r

o
N

402 NSV FS]

= H W

362,310
289,848
21,739
50,723

201,072

161,238

02 2l

v
o]
o
o >
fu e
Ok
il

O
=l
P

362,310,000 * 14!

W

362,310
362,310
289,848

201,072

161,238
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Shel: DEIM ML XS (25 &2
_ _ HE T
SH-EH . C(BH) - NRAY - BES Off &k il i~ o bRz
< 21,739
Al 50,723
B OEHESSH X 274,115 440,080 £165,965
301 LB 224,175 340,200 A116,005
12 JIEHB A2 204,175 340,200 A116,005
OBHELM X (HSH20I)
105, 0008 =4, 270ha*50/ 100 204,175
402 RIAX 20| 49,940 99,880 49,940
02 BIZFTHE A b 49,940 99,880 49,940
OF+IHETS SLEHE SSYUNL
99,8802 *500ha 49,940
B WY NEX 51,704 51,704 0
402 BIRAR 20| 51,704 51,704 0
02 BIZFTHE A b 51,704 51,704 0
OBAANH U ZYHE FUNA(SHHAAL
) 51,704, 0002 14! 51,704
ITHIE Y =7 1,800 1,800 0
01 YsrBA2 1,800 1,800 0
10 BAAHI 243 1,800 1,800 0
OBZHIE 400 KHIEAS SAH
5,000 *1291+303] 1,800
YR YR ET 2,160 2,700 AB540
= 2,160
202 048] 2,160 2,700 A540
= 2,160
01 =2UHoiHl 2,160 2,700 A540
ozl oYl 2,160,00021 *14} 2,160
= 2,160
A2 e 133,442 122,543 10,899
201 Yer2 Y| 93,442 92,543 899
01 A2l 67,492 66,593 899
O1 Yer+gt) 9,500
DASSRE 24E £42  9,500,0008 1A 9,500
02 2| 26,392
>EALE SAIDEA
7971 %BA| 2H% 1052 %27 4 18,076
> EAE TAIDRA  55021+8AI 2H5902 #21 £ 8,316
O3 A& ZH X 31,600
>EIY AYALES 3,000,00024 +14} 3,000
SEREESIES L] 2,000,00021 #14} 2,000
DYl 248U N2t
3,000,00024 +14} 3,000
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SN SUEHY
HH: sAAWAYS
Shel: DEIM ML XS (el &2
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F OH Ofl At ot Hws2
402 RI2X 20 6,720 49,600 £42,880
01 QIARZEE 6,720 49,600 £42,880
OFI=I|(2X) 7LXY
5,600,002 *2CH +60/ 100 6,720
B RX2IE HILERA HX 23,000 24,000 A1,000
402 RIX20IH 23,000 24,000 A1,000
01 PIATEDE 23,000 24,000 A1,000
O 228 IEJ| X
2,300, 00024 *20CH ¥50/100 23,000
B OS2 A% X 60,000 100,000 40,000
402 RIAR20IH 60,000 100,000 40,000
02 ©I2FCHEH ARl 60,000 100,000 40,000
O SR4T N (SESAY)
1,000 ¥200, 0007H*30/ 100 60,000
BEASHE &I} 2,000 0 2,000
301 LHBAS 2,000 0 2,000
10 BAAHIE A3 2,000 0 2,000
OMFAs MRS L JIEDSE FIK 24
2,000,00021*14} 2,000
B SQAL N2 15,000 0 15,000
= 4,500
Al 10,500
402 QIR 20IH 15,000 0 15,000
= 4,500
Al 10,500
IESEEES 15,000 0 15,000
Ol SRAIE XY
6,000,000% *55 *50/ 100 15,000
= 4,500
Al 10,500
AN BEAXI| B3 5,000 0 5,000
= 1,500
Al 3,500
402 RIRX20IH 5,000 0 5,000
= 1,500
Al 3,500
01 PIZTRBE 5,000 0 5,000
ORMeIH B2 AEI| BSMY
10,000, 000! * 104 %50/ 100 5,000
= 1,500
Al 3,500
s I 351,095 208,460 142,635
2 106,836
= 39,513




SN SUEHY
HE: SoAMAAS
Sl RS M (S5l &2
_ _ HE T
SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ofl At ot Hws2
A 204, 746
EAUDR0L HEXTH X2 68,750 81,750 13,000
402 BIR20IH 68,750 81,750 13,000
01 PIZREEE 68,750 81,750 £13,000
odgHz 640,000% * 100ha*50/ 100 32,000
oFgHlY 525,000  100ha*50/ 100 26,250
OJlsazs 210,0002  100ha*50/ 100 10,500
ZALDPO0F MHIISEE DR 2% 3,000 3,000 0
301 LB A 3,000 3,000 0
10 BAAHI 2 A S 3,000 3,000 0
OMHIIE HZDS o4 100,000 %300 3,000
SNSRI (M8 Z)XS 133,545 75,660 57,885
= 106,836
= 8,013
Al 18,696
402 RIRAX20IH 133,545 75,660 57,885
= 106,836
= 8,013
Al 18,696
02 DIZFHE AL b 133,545 75,660 57,885
OX3lE bz 22 133,545,002 14! 133,545
= 106,836
= 8,013
Al 18,696
LTMAT X2 10,800 10,800 0
402 21X 20 H 10,800 10,800 0
01 DIAX=EE 10,800 10,800 0
OFEHD ZN2ZE AL NANYSH)
18,000, 0002 * 17§ 4 +60/100 10,800
HY S 22148 X2 5,000 5,000 0
= 1,500
Al 3,500
405 THAHE S 5,000 0 5,000
= 1,500
Al 3,500
01 RMUSEH S| 5,000 0 5,000
OHZSRM 22l 208 X2
500, 0002 * 10CH 5,000
= 1,500
Al 3,500
HSLLABSAY BE 10,000 1,250 A1,250
= 3,000
Al 7,000




SN SUEHY
HE: SoAMAAS
Sl RS M (S5l &2
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ofl At ot Hws2
402 RI2X 20 10,000 11,250 A1,250
= 3,000
Al 7,000
01 pIAX=EE 10,000 1,250 A1,250
OBS44+YBoINY B
1,000,002 * 20ha * 50/100 10,000
= 3,000
Al 7,000
HEL =MAY 22/Y MAAL X 90,000 0 90,000
= 27,000
Al 63,000
402 RIIX 20| 90,000 0 90,000
= 27,000
Al 63,000
01 PIZREEE 90,000 0 90,000
O92YL ML &3 N
90,000, 0002 *14! 90,000
= 27,000
Al 63,000
=I1 XA 30,000 0 30,000
402 QIR 201 30,000 0 30,000
01 pIAX=EE 30,000 0 30,000
OB+E2 MEI| X
3,600,0002! *10CH*50/100 18,000
OA =S| (=201) XN
2,000, 0002 *12CH*50/100 12,000
A=Y S 1,975,543 1,791,825 183,718
= 1,117,897
= 72,614
Al 785,032
REA S AR & 56,000 56,000 0
301 LB A 56,000 56,000 0
12 JER A3 56,000 56,000 0
ORSP=Y DBX AMa UK (SO,
#3) 00,0002 *100ha*80/ 100 56,000
ASFNBLHNS S 15,000 21,000 6,000
= 4,500
Al 10,500
402 RIX 20 15,000 21,000 6,000
= 4,500
Al 10,500
01 PIZXIZEE 15,000 21,000 26,000
OEH MSAHNS T4
30,000,000 * 10+ * 50/100 15,000
= 4,500




SN sAEH
HE: SAMAAS
ool HEYSY sS4 (e @
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
| A 10,500
A=A TR N 10,000 10,000 0
= 3,000
Al 7,000
402 Q12X 0|H 10,000 10,000 0
= 3,000
Al 7,000
01 QIARERE 10,000 10,000 0
OXBASANES 0I5 THT X2
20,000,0008 * 1944 * 50/100 10,000
= 3,000
Al 7,000
MeFse omatns 10,850 10,850 0
201 Yereg| 1,050 1,050 0
01 AtR2elt| 1,050 1,050 0
03 2944 1,050
DHBASY DALY 50,0002 *73] 1,050
301 YerEAS 9,800 9,800 0
10 SAFAIHI A 9,800 9,800 0
OXBBSY HR5|0 DNFEFAR L4
5,0002 ¥5091 *43] 1,000
OXBRSAO MAX G4 FAT B4
10,0002 #4021 %13 4,000
OXBHSAL LN B& 60,0002 #402! 2,400
ORST=Y 8T A4 60,0002 *402! 2,400
SINZHIR X2 417,600 415,125 2,475
402 212t XHE 0| F 417,600 360,000 57,600
02 QI2FCHEAFEIHI 417,600 360,000 57,600
OR&F=Y FUHE X
930,000 *500ha80/ 100 372,000
Ogeiz |IIEHE N
3,800% 30, 000X x40/ 100 45,600
ESEEIENETCES 1,401,600 1,182,600 219,000
=2 1,113,600
= 57,600
Al 230,400
402 212t XH 0| F 1,401,600 1,182,600 219,000
=2 1,113,600
= 57,600
Al 230,400
02 QI2FCHEHAFRLH] 1,401,600 1,182,600 219,000
ORIIFEI2 X2 (960,000)
1,401,600,0008! %14} 1,401,600
= 1,113,600
= 57,600




BN ™Y
R oM
Col: ABA=Y 24 CEEE
_ _ _ HEC
A BB O(B) - NEAY - BAS 0f 1 o SR RS2
| N 230, 400
MEA=MNSOUE =X Y| 11,750 19,600 AT7.850
= 3,55
Al 8,225
301 UuEAD 11,750 19,600 AT7.850
= 3525
Al 8,225
12 JE Az 11,750 19,600 A7.850
OHBA=MN2ZE =Y X
250,0002 * 9421 * 50/100 11,750
= 3,525
Al 8,225
MENYHELH(HELH)KS AL 7,700 8,050 A350
= 3,080
= 924
Al 3,696
206 T2 H| 7,700 8,050 A350
= 3,080
= 924
Al 3,696
01 Wz 7,700 8,050 A350
ORANXS HNBE 1 LT AL
15,400, 000! *141%50/100 7,700
= 3,080
= 924
Al 3,696
HER=NE =X 33,000 0 33,000
307 012+0| & 33,000 0 33,000
08 OIXEAD 33,000 0 33,000
OFS2AH 2MK2 2UEE  87,5028+377S 33,000
JEH =X 22 (BX) 9,000 0 9.000
= 2.700
Al 6,300
206 T2 H 9,000 0 9,000
= 2,700
Al 6,300
01 W2t 9.000 0 9.000
OFEZ =M 22 (2E, =2x )
1,200,000 *15ha*50/ 100 9.000
= 2.700
Al 6,300
DIMEHTHES &0 H K2 3,043 0 3,043
= 1,217
= 365
Al 1,461
206 X2 H| 3,043 0 3,043




SN SUEHY
Hal: seFW L
ool A=Y 84 (25l &2
_ _ _ N E
SA-EFH - SA(SAH) - MREAY - BES Off &F oK bﬂngﬁ Hws2
= 1,217
= 365
Al 1,461
01 el 3,043 0 3,043
ODIMENHEE HHE LM AL
6,086, 00024 *141%50/ 100 3,043
= 1,217
= 365
Al 1,461
nESCEE 315,850 338,650 £22,800
= 2,925
| 107,000
= 20,600
7 Al 185,325
B BB A 100,000 140,800 40,800
402 RIR20IH 100,000 140,800 40,800
01 PIHXIZEE 100,000 140,800 240,800
OXIStat A YES X AL
40,000, 0002 *5ha*50/100 100,000
FTADI 2 X X8 H = ALY 210,000 184,000 26,000
| 107,000
= 20,600
Al 82,400
201 Yer2 YY) 560 560 0
] 560
01 At 560 560 0
03 294Y 560
DS BB EHA g
70,0002 x421 %23 560
] 560
202 Oft] 1,000 1,000 0
] 1,000
01 2Uioib| 1,000 1,000 0
OD4 DBIMMALSHSANY =8 NS O
bl 1,000, 00021 *14! 1,000
| 1,000
301 YBrBAS 2,440 2,440 0
] 2,440
10 BAAHI 243 2,440 2,440 0
OFTAJIZAIY DH4 =0 HTX o4
1,940,00021 *13] 1,940
| 1,940
OFTAJIZAIY Db+ =0t D B4X SAL)
5,00021 #5001 23] 500
| 500
402 212X 20| 206,000 180,000 26,000




2A: sgE
HH: =gZHH2AG
S =M 84 (&9 HM
- _ _ b=
2N -3 - c2(3H) - NEME - HES Ol & lOﬁ/l\_Fgﬁ Hns
Jl 103,000
= 20,600
Al 82,400
01 It XIE2E X 206,000 180,000 26,000
OFTAD| 2 1t DEZ MAAA SHSIAIE
206,000,000 & * 14! 206,000
J| 103,000
= 20,600
Al 82,400
4= JIXZ 20189 2 5,850 5,850 0
= 2,925
Al 2,925
206 i = bl 5,850 5,850 0
= 2,925
Al 2,925
01 =4l 5,850 5,850 0
O JIXZ20t2Y LM ALY
45,000 *130ha 5,850
= 2,925
Al 2,925
AMsEsEHE 54 253,258 394,085 AN 140,827
= 6,923
= 64,019
Al 182,316
2N SAsSAHXD| NEAY 2,200 2,200 0
< 660
Al 1,540
402 QI2tXE01A 2,200 2,200 0
= 660
Al 1,540
01 QI2EXIE2E X 2,200 2,200 0
Oot2dsM2214EI| XM
4,400,000€ = 100 = 50/100 2,200
< 660
Al 1,540
DEZASH MAMIH(ERE L)X 22,970 27,563 A4,593
402 QIZ2tX201 M 22,970 0 22,970
02 QI2+CHEH AP HI 22,970 0 22,970
Ogdx NSHEA sAXA(SollLX)
5,810 x4, 750= %50/ 100 13,799
Ogdx NEZSA sAX 2 (ZE=2AH)
3,750& %4, 7502 %30/ 100 5,344
Ogdx NEZEA sAX2(MEAMM)
5,370 %2, 375=+30/100 3,827
olAa RIZATHEY XIS 5,130 9,450 A4,320
< 1,539
Al 3,591




SN SUFH
Hal: sAFW L
ool ANSSHE |4 (e @8
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ofl At ot HwsZ
402 Q12X 0IF 5,130 0 5,130
= 1,539
Al 3,591
02 QI2FCHEHARRIH] 5,130 0 5,130
OOl & & BT X2 A2
540,000 *19ha*50/ 100 5,130
= 1,539
Al 3,591
HIAL THBHAL Al& & 7,778 16,000 ~8,222
= 2,333
Al 5,445
402 QI XHZOIH 7,778 16,000 ~8,222
= 2,333
Al 5,445
01 UAREBE 7,778 16,000 £8,222
OB ATHEHAIZ S THSH A
3, 111,0002 *55 %50/ 100 7,778
= 2,333
Al 5,445
ANERI0 DIlE ST 50,000 125,000 A75,000
= 15,000
Al 35,000
402 Q12X 0|H 50,000 125,000 A75,000
= 15,000
Al 35,000
01 QARZRE 50,000 125,000 A75,000
OANER0 SZMH N AL
50,000, 0002 *2JH 2 *50/100 50,000
= 15,000
Al 35,000
Bl SA SO 25 48,000 45,000 3,000
= 14,400
Al 33,600
402 QI XHZO0|H 48,000 45,000 3,000
= 14,400
Al 33,600
01 UAEBE 48,000 45,000 3,000
O35S A B II5HAL!
6,000,0002 * 165 * 50/100 48,000
= 14,400
Al 33,600
2% T F4 12,000 20,000 8,000
= 3,600
Al 8,400
402 QI XHZOIH 12,000 20,000 8,000
= 3,600




SN SUEHY
M SAMAAS
ool ANSSHE |4 (el &2
_ _ MNuE o
SN-EHH . SH(BH) - HPAY - BE2 O AF o8 il b o B2
A 8,400
01 BIZTEEE 12,000 20,000 28,000
OSY QUT THEANY
40,000, 00021 *0.6ha50/ 100 12,000
= 3,600
Al 8,400
DEI AL MUK B 20,000 19,800 200
= 6,000
Al 14,000
402 QIR 201 20,000 0 20,000
= 6,000
Al 14,000
02 PIZHHE AL b 20,000 0 20,000
ODNEX AT MM X
400,0002! *100ha50/ 100 20,000
= 6,000
Al 14,000
ATISE HRHEAL X2 26,250 26,250 0
= 7,875
Al 18,375
402 212X 20 26,250 26,250 0
= 7,875
Al 18,375
01 pIAX=EE 26,250 26,250 0
OUNRE HEHBAL XA
13, 125,000 *4S 50/ 100 26,250
= 7,875
Al 8,375
ANSRUNLK 0l 585 Al 13,846 59,820 £45,974
= 6,923
= 1,385
Al 5,533
402 QIR 201 13,846 59,820 £45,974
=2 6,923
= 1,385
Al 5,533
01 PR E 13,846 59,820 £45,974
QA& OIS A
23,076, 0002 * 17 A *60/ 100 13,846
= 6,923
= 1,385
Al 5,538
NSRS B 8 X 6,750 7,002 A252
402 RIAX20IH 6,750 7,002 A252
02 DIZHAE AL H] 6,750 7,002 A252




SN SR
HH: sAAYAYS
o9l ANSSHE S4 chol & 2)

i} _ _ FSIER=
cHH 2 (S H)  NEAY - HES Fagel oﬁ/?OH =2
OAEANE M H X (sSHE2IAIY)
4,500 5,000 *30/ 100 6,750
3l AHA XA 38,334 0 38,334
[= 11,207
Al 27,107
QI2tR=20| ™ 38,334 0 38,334
[~ 11,207
Al 27,107
QIZIEE X 38,334 0 38,334
O35 Mot XA
153, 33491 %5002 *50/100 38,334
[= 11,227
Al 27,107
SAM2EE L SRENM 591,100 650,737 A59,637
[ 18,660
Al 572,440
SEME 28 25 81,030 86,030 A5,000
U2 H 30,280 35,280 A5,000
AL 2t2| H] 30,280 35,280 25,000
O1 Yeta==2H| 30,280
DAL= E22EX 2,000,000 %190 A 2,000
DEED s8¢ 50024 %10, 0000H 5,000
DA&EA QOIE LetZD2
1,940,0002 122 23,280
eI = 2,000 2,000 0
SHALAIHI B A2 2,000 2,000 0
OZXEHM &b (d%) DI2tol Bat
100, 0002 209! 2,000
QIZHRH=0| & 48,750 48,750 0
01 2HCH B AF H 48,750 48,750 0
OEEDN AHIESE HAAMNY 48,750
PEZE EE0/(1kg) (SEHESAMY)
3,50024 %5, 00090 *50/ 100 8,750
D> EE0l EHHHHI(20kg) (SEESAIY)
4,000 *5, 0007 *50/ 100 10,000
DEED EL2H (sEEAAY)
40,000,000 141 %75/100 30,000
SEMS D)l 2435 101,120 109,372 A8,252
ULt HH] 9,000 9,000 0
01 AL222lH| 6,000 6,000 0
O1 Lit2H| 6,000
DsEMZ2 IHY EB XL
1,000, 0002 %33 3,000




SN SUEHY
HE: SAMWAAS
o9 SN2ER U RSHM (e @8
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 il b o B2
>ESH2 AHHFE(MHAR)SY
3,000, 0002 17§ £ 3,000
03 A2 Y| 3,000 3,000 0
O+E2H 2 52 HEHO0I0 28 223
1,500,0008! %23 3,000
202 01t 2,120 2,172 ING.
01 =2Uioibl 2,120 2,172 A5
OBIHSS L0 SSAS BIHBA AIH0iH)
2,120,000% 18l 2,120
307 212H0IH 86,000 94,200 8,200
04 DIZFSALE 86,000 94,200 8,200
OBIHEBE L0 SSHS SHHA
10,000,0002 * 131 %50/ 100 5,000
OXletat 250t EH 30,000,0002! %13 30,000
OXlotAr= S0t HBOIHE ALY
30,000, 0002 *13] ¥50/100 15,000
OISttt =R 20,000, 0002 *13] 20,000
OXIGASS0t 2T KB #A
10,000, 0002 *23| %80/ 100 16,000
401 Al&HIL 20| 4,000 4,000 0
01 Al&H] 4,000 4,000 0
OSSH2 MHHZEH(MEAIR) ALD4
4,000,0002 *14! 4,000
si2 2REFES 347,750 390,815 43,065
402 RI2AX 201 347,750 390,815 43,065
01 QARZRE 97,500 101,565 A4,065
OsM8 ZE HE X (F244995)
1952 *1,000, 00004 *50/ 100 97,500
02 QI2FCHE AR HI 250,250 289,250 139,000
OSMSTIH HE NA(ES0| 238258
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Al 3,000
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= 4,200
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Al 15,600
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Al 1,540
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= H A
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1,000,000& * 14! 1,000
SEHEZ=2012X 2= (2J18) 6,600 6,600 0
& 1,980
Al 4,620
301 et24 = 6,600 6,600 0
& 1,980
Al 4,620
07 Slz2+tol=2l (| 6,600 6,600 0
O=ZE0HZE0|2UX 2ILEXA
6,600,000 14 6,600
& 1,980
Al 4,620
=X0/8 2elX&E 26,194 0 26,194
| 26,194
101 Q14| 26,194 0 26,194
| 26,194
04 JIZtMZ22XRSE+ 26,194 0 26,194
OsXols 22l el 26,194,000 = 14] 26,194
J| 26,194
sgolmet = 7,192,216 10,318,288 23,126,072
& 2,856,000
= 8,500
Al 4,327,716
=08t | 2,400,836 3,357,468 A 956,632
& 356,000
Al 2,044,836
I HsZXH=Z8 ELE 508,000 811,824 A 303,824
= 356,000
Al 152,000
401 AlEHIZ 2 DHH] 250,000 395,504 A 145,504
& 175,400
Al 74,600
01 Al&H| 248,213 392,791 A 144,578
OJIHBHZ & LH 248,213
> Al & HI 248,213,000 * 14 248,213
= 174,149
Al 74,064
03 Al =204y 1,787 2,713 A926
OANE 2 1,787,000 14! 1,787
= 1,251
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403 XX S HS =0l H 258,000 416,320 A 158,320
= 180,600

77,400
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OJIHBEZ CHAEAIZ Bl 258,000,000 141 258,000
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Al 77,400
| A& Sht==olf CH 2 200,000 200,000 0
401 A &HIYL 2048 200,000 200,000 0
01 Al&H| 198,570 198,570 0
O%2INA B2 (SHE) 198,570
> A& | 198,570,000% 14 198,570
03 AIZ=20i4 1,430 1,430 0
OA& SRl 198,570,000 *0.72/100 1,430
=2 ¥ ExZ £X 704,410 825,166 A 120,756
401 A &HIYL 2048 704,410 825,166 A 120,756
01 Al&H| 700,000 820,000 A 120,000
O2Ys =&l ANE T2 (L=300M)
30,000,000& *14! 30,000
Oa=xdH &2 &2 1A T2 (L=250M
) 50,000,000& * 14! 50,000
OBHY 2822l SEB 52 ¥ 42 (L=40
M) 50,000, 00024 *14! 50,000
OXIHE 24822l HS T42 (L=300M)
50,000,000& *14! 50,000
OREX G2l 4542 (L=300)
50,000,000& *14! 50,000
O a1zl ADE C22URHEY (L=
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OB X 12l S40E T42(L=70M)
50,000,00024 *14! 50,000
OB AZo2| W2l +248 I (L=400M
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OSME SBTARK 2HEHI(L=350M)
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O=4E 2221 &2 (L=700M)
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QKRS D8te| 3tS 91 ZE 2 (L=420M)
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SEOS SN 1,429,000 2,537,000 A1, 108,000
3 1,000,000
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> Al & | 278,000,000& » 14 278,000
= 194,300
Al 83,700
02 22!l 10,000 2,000 A2,000
OZERY SZUISZEN
10,000,000& * 14! 10,000
= 7,000
Al 3,000
03 Al&=0Htl 2,000 6,381 A4,381
O2=dd =sZ=0=3EME 2,000,000 14 2,000
& 1,400
Al 600
402 SI2t X201 458,000 1,120,000 A662,000
= 320,600
Al 137,400
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OHEASY SENSTEMNL(3MHL)
458,000,0002 14! 458,000
3 320,600
Al 137,400
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= 116,200
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OHEAY SZUSTENL(SHESA 85
[ AF) 166,000, 000& » 14 166,000
= 116,200
Al 49,800
SEMEEZ Y| 2,143,000 0 2,143,000
= 1,500,000
Al 643,000
401 A &HIYL 2048 2,143,000 0 2,143,000
= 1,500,000
Al 643,000
01 Al&H| 2,135,313 0 2,135,313




SN S
N SolTpl p=
e sEEE A (cHe: &)
SN HB SR (BIH) - A - B S 0l &b S D=2
- - T - = S = (O = 0:”/&,% VSso
Os=ME HAEH AY
2,135,313,0002 14! 2,135,313
o 1,494,548
Al 640,765
03 A& 7,687 0 7,687
Os=ME SAEH AY 7,687,000 x 14! 7,687
z 5,452
Al 2,235
SelAlE sx2e 1,219,380 2,494,820 A1,275,440
= 8,500
Al 1,210,880
2IAEL2H SXze 17,000 17,000 0
= 8,500
Al 8,500
201 YEr2 Y| 17,000 17,000 0
= 8,500
Al 8,500
01 AF2Z2ldl 17,000 17,000 0
O=#=2lAl& 42| H S Xl22ldl(86ha)
17,000, 0002 * 14! 17,000
= 8,500
Al 8,500
22 ANE RRE% 699,500 1,273,500 A574,000
201 B2 63,000 67,000 A 4,000
01 AF2Z2lH 6,000 10,000 A4,000
O1 geragd) 6,000
DR(Z)SMA =242
200,0002 %30 X| 6,000
02 2ZZ29H| 57,000 57,000 0
O1 2222 2 MAl 57,000
DOFAR (16004 ) L LBFRE (55004 ) &)
2 57,000,0002 * 14! 57,000
401 AlEHI 22T 350,000 420,000 A70,000
01 Al&d| 350,000 420,000 A70,000
OBLE B2 (4B) 100,000, 000! * 14! 100,000
OR20 o2 AL A2P2L
150,000, 0002 %1 4! 150,000
OM#X 2 HU2 =4 100,000,0002 *14! 100,000
403 XHXISHHIS K20l & 286,500 786,500 A500,000
02 2J| 2SOl CHEHCHEH AFRH 286,500 786,500 500,000
O35 i+ HOX eBIH|(SEBA
XIAF) 125,000,000 *69.2/100 86,500
O22IANAE HEL(SET A FZKIAL)
200,000, 0002 * 14! 200,000




M SEM

A soloimo) &

ool 22lAle |RZe (el @2
SA B HRA(SH) - MRAY - B 0l & o e HREZ
AEM=X E= - 2 402,880 1,204,320 A801,440

401 Al&HI LS OHYI 402,880 1,204,320 A 801,440

01 Al&H| 400,000 1,200,000 800,000
ORI M=Kl Ex=2& 400,000,000& *14! 400,000

03 AIE20HI 2,880 4,320 A 1,440

OABHAN 2422

400,000,000& *0.72/100 2,880

FEXN T LPAAHT] =4 100,000 0 100,000

401 Al&HI LR OHYI 100,000 0 100,000

01 Al&H| 100,000 0 100,000
SEXNT YUMACNY HEZ FH) 100,000
D> A AIE A 100,000, 000& =14 100,000

HY 2SI 137,557 119,521 18,036

AR (s 20 68,905 59,617 9,288

ol (s E ) 68,905 59,617 9,288

101 Q1 Z4H| 58,165 49,217 8,948

01 = 58,165 49,217 8,948
OAlZ2te = 7,457 %2621 %x300A1 2+ 58,165

203 HRF&Hl 10,740 10,400 340

01 JI22FHRF&HI 3,300 3,000 300
(OF T 3,300,000& *1¢! 3,300

02 FAINAMHRFAHI 3,240 3,200 40
Osgll=dH 40,000 *812! 3,240

04 FN2ILRFAHI 4,200 4,200 0
Os=sg & 350,000& «12& 4,200

23t (s E ) 68,652 59,904 8,748

Jl2Zdl (s &) 68,652 59,904 8,748

201 Let2d| 47,752 46,516 1,236

01 AtE22/Hl 45,352 44,506 756
O1 git=FH| 15,000
>EA2E 2 1,250,000 x12& 15,000
O3 2d=¢ 23,800
> &2l 50,000& * 121 %476 23,800
OLI=1=1:] 6,552
Dot 5222 7,000& #2621 +33| x 12 6,552

02 =234l 2,400 1,920 480
O1 22232 £ HA 2,400
>REZ 2,000& 10024 123 2,400




SN SAEMY
HE: N2 YA
SR EPIEETCEREn) (25 &2
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES O AF o8 il i~ o bRz
202 Oit] 7,000 6,568 412
01 =2Uoibl 7,000 6,568 412
OJl=g2+80| 7,000,00021#14} 7,000
405 THAHE S 13,900 6,800 7,100
01 RMUSEHSH| 3,900 6,800 7,100
OPC 1,300, 00024 #5CH 6,500
Ol0I K ZRIE | 700,000% 2CH 1,400

O K= A 6,000,000& = 1CH 6,000




